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Note : Four possible choices A,B,C,D to each question are given, Which cholce is correct , fill that circle infront of that question
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Most of the Gaseous Exchange in a Leaf occurs through : : r;_tnc.ulf Db ol ¥ Ur-'-r A % 141
General Surface i?'l: (D) Lenticels }-/L:“"J (C) Cuticle J_?;..( (B) Stomata ks (A) (1)

L b Ut e Lbdn Pt Urfers gyl (2)
Which would NOT be present in the Filtrate entering the Bowman's capsule of Nephron :
) 9
Urea L, (D) Blood Cells X4 (C) Calcium Ions )‘l(:g (B) Water G& (a)

\ .+ o
r‘_rfdﬂabl” = oy 97 ¥ qui;‘so.)ljf (3)
Which Component of Coordinated Action receive Informations from Receptor

Response LHLJ_J (D) Effector il (O Coordinator A4 (B) Stimulus uJ;f? (A)

The Myelin Sheath is formed by  : Y, o s et b (4)
14 o
Schwann Cells ¥y (D) Dendrites Lz} (C) Axons 51350 (B) Nodes of Ranvier zs/.37i37 (A)

How many Vertebrae make Vertebral Column in human : Y P [T z . [,JLTJ}.._.SJ_, o) (5)
28 (D) 26 (© 24 (B 22 (A

Ut eof » Jf JZ uy;) ./ij-c(_l (6)

Which process of Asexual Reproduction requires two plants

Tissue Culture /5"; (D) Cloning N1 (C) Cutting & (B) Grafting N:is (A)

Dbl L s gl g _gom g pIOL U Lol (7)
Which Nitrogenous Bvase forms pair with Cytosine in DNA

Uracil JUy (D) Adenine ¢£¢4 (C) Guanine L (B) Thymine de ()

Which is unit of Inheritance : D oeul (S et (8)

Gene %2 (D) Nucleosome I'"’-"K"‘. (Q) Allele ‘ﬂl (B) Chromosome rn’;)’ (A)

e 27 SHE A (Coyote) U e it €—(ut) 17 6= () 1 ¥ F @i & e Bl (9)

In the Food Chain ¢ Tree —pCaterpillar Robin—yHawk-»Coyote  which is the secondary consumer :
Coyote & (D) Hawk gt (C) Robin sy (B) Caterpillar It ¥  (A)

Which of the following is a group of Primary Consumers : : & ¢ P § A1y .',:f U e ot it (10)
Producers Jj5 (D) Herbivores Jm(; (C) Carnivores Im8 (B) Decomposers J/J);{LSS (A)
The first Step in Genetic Engineering is : s ‘gL/uf dop e S prual LBt (11)
Insertion of Gene into a Vector Wlhjf/‘{:uj s 2 (B) Expression of the Gene of Interest t/(b’(uif."ﬁ-uf'ﬁ a)
Isolation of the Gene of Interest t):n:l‘c}.’elfwv‘: (D) Growth of the GMO U;}UJM?J_E{»”C;‘J: ©
Sulfonamides affect bacteria in the following way : Y S Y]] }l{ L ﬁ‘.ﬁ =3 }U/ PRI CRFIT (12)
Inhibit Synthesis of Folic Acid ULt § 207 (A)

Inhibit Synthesis of New Cell Wall & ofbfUs6 (B)
Inhibit Protein Synthesis uf Z—» S (&5 uﬁbs{ (D) Break the Cell Wall uZiidn F(©
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Note : It is 'compulsory to attempt (5—5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

30 = 2x15 Make Diagram where necessary. i%”hgf{fnduﬁutg] (Partl) st

Define Alveoli. gES | Sk ) 240w
Define Diaphram and write its function. -é;‘f({‘(ﬁﬂ sl 'én}'_}f? J (f/._L.IS (ii)
Write the path of Air from the Nasal Cavity to Alveoli. -éfg 2o ¥ n JU;_’}J Ei L‘}_’_[J,: (iii)
Write the names of components of Glomerular Filtrate. ~é‘.‘far‘t Lozl L .:c/""/;ﬂ.f (iv)
Write the names of Metabolic Wastes in Plants. ..éfa (e . u»LJK{_ Z rﬂ;ﬁl‘f: o Ung (V)
Define Stimuli and write its two examples. s e SnimgEu & i wi)
Write the function of Midbrain. -é:f?'( § ek (vii)
Write the function of Epinephrine or Adrenaline. _égng ¥ uf!laxéf W o il (vili)
What are Hinge Joints ? Give an example. ZJedic gy oaiiilys iy (i) 34
What is Appendicular Skeleton? fe U o pelu ) 53t (i)
Differentiate between Asexual and Sexual Reproduction. _2‘_’-/0/ 19 cﬁ:‘:/,:/J;—g’ 2! J’;/?gl (iii)
How does Yeast reproduce ? T‘L.J/( VEiszs d_’M (iv)
What is Punnett Square ? Y;.l! ey ey (V)

O T ally W .;er':?w-c'ljm (vi)

Differentiate between Homozygous Genotype and Heterozygous Genotype.

What is meant by Homologous Chromosomes? ‘?9.:!/;;( = /'rn/ﬂm (vii)
What are Alleles? St 7 sk (viii)

e GAIUE NI ) et £ FED () a4

What is the difference between Abiotic and Biotic Components of an Ecosystem?

What is meant by Parasitism ? 94;_1'/[5( < pihFllz (i)
Write the name of two major Decomposers of Biosphere. -é;‘.’%t z JJ));rdﬁ exnl /ﬁ"’f[. (iii)
Define Symbiosis. s o (iv)
What is meant by Genetic Engineering? ?‘;—J'/‘:r Syl S (V)
Write uses of Ethanol. _éﬁﬂ e U L el (vi)

_EE ) UGBy 2L JEG 2 (vil)

Differentiate between Bactericidal and Bacteriostatic Antibiotics.

S g U (viii)

What are Narcotics ? Give two examples.

18=2x9 (Part 1) fos2
@) A G SV NSRS FSLE ot 54

Explain the phase of Selective Reabsorption in Urine Formation.

oAU § F L s ()

Explain the phenomenon of Antagonism with example.

(5)

ol | S peSliay () 670
ol J(WJ’)J e LILuESun] (L)

Explain the process of Seed Germination in Plants.

(4) Explain Reflex Action.
®)

(4) Write a note on Antibiotic Resistance. _’45'6..:«] & e JUE'LJ”Z,LU"I I 74
(5) What is Fermentation? Explain its types. _éyu;gfrﬁld/m g U_?i‘-{\_)-@%‘ s ()
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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle in front of that question

number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

igd

The substance used for the treatment of Disease is called ---==-—- -

s#4 (B) Narcotics u‘g‘;t A)

Sedatives
Hallucinogens > o™ iy (D) Medicinal Drugs luu? ©

On the basis of functions, Neurons are of —----— types : : u_;d"_.mﬁb) B )4 ;L‘dér(@.l 1/f?d'f
5 (D 4 (@W 3 ¢:)) 2 (A (1)
Each human kidney weighs about —---s--— : bt e F ik e S 41 (2)
120 Gram 1/ 120 (D) 105 Gram (/105 (C) 104 Gram ¢/ 104 (B) 100 Gram S 100 (A)
UL siaor s 35 K e 0 2R £ 3)
Tobacco smoke contains at least -—- Carcinogenic Compounds
5000 (D) 4000 (O 50 (B) 40 (A)
This is not a part of Hind Brain : rnuﬁf;? ¥ ofakdy 2 i (4)
Cerebellum kg yowe (D) Cerebrum (s (C) Medula Oblongata &Sy Y4 (B) Pons  Ji (A
- Jg,, 2 AL e § St e 2 ndy ) (5)
Adenine of one Nucleotide pairs with —e-----ms - of opposing Nucleotide
Uracil Jwlyss (D) Guanine _- ) | (C) Cytosine -y gioflus (B) Thymine u:éb’l' Y
External Fertilization occurs in -—r-ee—---: %Jn o —--—-ﬁ/’ﬂf/‘)}gl (6)
Mammals shega (D) Birds <47 (C) Reptiles 54 3, (B) Amphibians '/'..l‘,_'uf{f A)
Appendicular Skeleton is composed of —-—-—- bones u}&mﬁfu},é -—--u-‘-'\)‘:.._d._&.m)lﬂ&._z\ 7
24 (D 54 (@ 8 (B 126 (&)
Sy a0 LU it mee-AAbD Ft2 § Ak LT (8)
How many Genetically different kinds of Gametes of an Individual with Genotype AAbb can be
produced g8 (D) 14 «, 2 (@ 1 (A
The complete map of Human Genome was published in -——- 5o lflfék}uﬁ ------."/'*"U‘r ¥ 2 Zybri (9)
2002 (@ 1990 (© 1978  (B) 1970 (A)
Now there are ------— Billion people at the risk from Dengue : 2 y a1 UE‘S S u:C‘ L-j,,‘j‘--- Uk ot (10)
9.5 (P 5.2 (© 50 (B 5.0 (A)
Which one is not a Primary Carnivores - u.’.'/ J/»g};( d/,'{ ol L (11)
owl  Ji (D) Smake b (O Frog Sk (B) Fox $rd (A
) b U L L ek Lk 2 ol (12)
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Note : It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part [I. Write same Questions Number and its Part No. as given in the question paper.
| 30

=2 i‘_ﬁ] Make Diagram where necessary. -ufk:fuandnﬁutg (Partl) J’L"

rWhat is the function of Mucous present in Nose ? ?g_r(l[ ¥ S sar it (i 2/:"Ub'"
Write the symptoms of Pneumonia. -’qu:,f.!k J ks’ (i)
Differentiate between Bronchi and Bronchioles. _éu,l_r.ﬁ/. o ﬂ;fm sl 65’;/. (iii)
Differentiate between Dew and Guttation. EO A S s et (iv)
Differentiate between Glomerulus and Bowman's Capsule. _zi_’ o 3 A Jrg(ufi 28 u%/.{;{ v)
What is Coordinator ? Give its two examples. -2:‘:1‘,}-‘-’@ 2 Ju‘f T W ALY (Vi)
Define Reflex Arc, -2’.""\.4//7 JJJTU@.LE_U (vii)
What is the function of Mid Brain? e uiﬁ 'S e 24 (viii)
What is the function of Skeletal System? e 6 U 6 waw kS (i) 370
Differentiate between Compact Bone and Spongy Bone. "‘aﬁf’[fuf L s ) 99 SeS (i)
Define Endospore. -2{4}" J 2%l (ifi)
Differentiate between Male Bee and Worker Bee . -E{J/uf u"'{jf( 2l u"i (iv)
| Define a Trait. gé’{uj}? J de/ (V)
Why Mendel selected Pea Plant? WL oy £ i Jhr (vi)
How Monohybrid Cross differ from Dihybrid Cross? V‘LJQC)J&- ! 5/.’&8'5 J’/)’/.’Q:’f (vii)
Define Dominant Allele. Give an example. ety Jd,gl s 9 (Vi)
' Write the iﬁportance of Decomposers. ‘ -éﬁdc.{;’ J /'1]);(65 {i) 4,{’;)'/
Differentiate between Food Chain and Food Web. -éﬁ%/ A .../,.15’.’ ol %39 (i)
Define Mutualism and write two examples. v_é;fauél‘/ 2 9 gbg/"" JQ.LQ-J:A (iii)
Write the symptoms of Dengue Fever. -é;‘.’q;m g /&oa} (iv)
Define Genetic Engineering. -éu:!f J &Ml S (V)
Write the function of Interferons. -’4’?‘( € SR E0 (vi)
Differentiate between Medicinal Drug and Addictive Drug,. _2f.’:’u~l/0/’ A Iy TE Luu? {vii)
Differentiate between Antigens and Antibodies. -éuw)u: '{fgd:"l 1 /G”'l (viii)
18= 2x9 ( Part ")r»pa"
(4) Describe the function of Kidney. ..’j:’_{c)g J” ¥ s/ (I 5/'.’ULV
(5) Write a note on types of Joints. -80_‘«:7 £V e uf";i ()
@) el Ul edl £ aS g1 Y gdue o U U2 EAOUI (L) 6 i

Explain the locations and funfttions of Hypothalamus and Medulla Oblongata in

human brain.

(5) Write about Cutting and Grafting in Plants, -E’L:{f JU? LGS o8 U Ung (o)

(4) ool Sgerpe IORL P & | 2% () 74
How Bacteria develop Antibiotic Resistance ? Explain.

) el GV A ZEif sy (L)

Define Fermentation and explain its two types in detail.

T v == ol 4 dananee ﬁ 4




